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Ak T = 32, 668, 184
BIEIA-N - T2 = 31,611, 184 | BIHIF—n" =14 9,970 m2
[# ]
TemPA N —J8 BT 0 T8 BRIEEE 197 T4
2/(13) ;
HOE T (B eIH) 498 m3
[# ]
TAT7IV NS
RISy 498 m3
[# ]
TAT7IV NS
TAT 7 VMR AR S T = 1,057,000 |77y 4L¥H 1, 000 m
[# ]
179985 1EY—b W=33cm 1" 7AKLAS ;
X R T = 1, 397, 596
X H R T = 1,397,596 | VAEh X ik 2,620 m
[# ]
WA FE) R 15em JEL Smm PEAKMEEHIEHE
H
i =X R 660 m
[# ]
WA FE) AR 15em JEL. Smm PEAKMEEHIEHE
H
TE AT R itk T Y 130, 100
B EY T = 130, 100 | HufR 5y Bl 5 A
H=650 "JZ8 3 (ZRFL- IR 104K ;
A Y 1, 188, 340
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[ERAE Xy = 35, 384, 220
HiE R = 6, 645, 175
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TERE = 142, 000 | iRk buk e iy 2 1 =
HeffrE sy = 103, 175 | 18 B fiti i FeAT —HVERR 2 1 =
A [EE WS R SRRT I B G E 1 X
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B (FEHL) = 5, 986, 000
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[ERAE Xy = 1 4,060, 424

IR 2 1 1, 206, 000

BISTIGE: = 1 215, 000
TERE 2 1 142, 000 | HtRRphm e 2 1 =

BGRESGESE (5 L) = 1 73, 000

B (FEHL) = 1 991, 000

T = 1 5, 266, 424

Bl gy 2 1 2, 690, 000

T =5l = 1 7,956, 424
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